ADDITION FRACTION WORD PROBLEMS (1)

Fran baked cherry pie. Alex ate 1/8 of cherry pie, Mary ate 2/8 of cherry pie. How many

pieces of pie were eaten altogether?

Big Bear received 1/4 inches of snowfall on Monday, 3/4 inches of snowfall on
Wednesday and 2/4 inches of snowfall on Friday. How many inches of snowfall did Big

Bear receive total in all?

. A farmer plowed 4/6 acres of land on Monday, 2/6 acres of land on Tuesday, 5/6 acres
of land on Wednesday. How many acres of land did farmer plow in all?

Sam blends 3/4 cup of orange juice, 2/4 cup of juice of carrot juice, 3/4 cup of beet juice
in his smoothie. How many cups of juice does she blend in all?

. Joan picked 5/8 of berries in the morning, 4/8 of berries in the afternoon. How many of

the berries did Joan pick all day?

Sienna ran 3/7 of the track on Saturday, and 5/7 of the track on Sunday. How many of

the track did she walk during the weekend total?




